D1vISION WITH A REMAINDER II (H - SET 3)

Name:
CHALLENGE
Time: Score: y—
691) 32853 = 7 = 06 104179 -9 =
62 9969 — 1 = 07 102488 + 10 =

693 66033 + 11 =

604) 108411 = 10 =

) 61044 + 6 =

696) 53424 + 12 =

007 32109 =6 =

0s) 35101 +3 =

699) 73 =4 =

00 28367 + 7 =

0y 16899 <+ 3 =

02) 51142 +5 =

03 5387 + 12 =

04 86688 + 8 =

105) 91353 + 8 =

Mathematics: Division - Level 8 - Horizontal - Set 3

708)
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710)
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712)
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720)

25

20023 -9 =

30310 + 3 =

46765 =6 =

13356 =9 =

13602 + 2 =

1443 + 4 =

33286 =+ 5 =

40143 + 5 =

39308 + 5 =

91093 =9 =

20761 =6 =

39646 = 10 =

102504 + 11 =
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